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CC ALGEBRA 2 TROICI

LESSON #1: LOG WORD PROBLEMS
Do Now:

1. Aloan for $8,000 compounds yearly at a rate of 2.5%. What will the cost of the loan after 3 years?
(HINT Use the formula A=P(1+ r) Y
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2. Ahouse purchased 5 years ago for $100,000 was just sold for 5135 000. Assuming exponential growth,
approximate the annual growth raté; o the nearest percent, (HINT Use the ormula A = P(1 +r))
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1. Find the time, to the nearest year, required for a $7500 investment to d uble at an interest rate of 7.25%
compounded annually. A= P (,\ _\_T)’r t:}-» QTOUUJFY\ =7+
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2. Going away on a family vacation of four to Disney World is very expensive. The cost of the trip is $5,500. If

you put $1,000 into an account ata 5% annual interest rate compounded monthly, how long, to the nearest
tenth, will it tdke you to save up for this trip?
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3. Grace invests $6,000 in a CD at an annual rate of 8% compounded contmuously—/h’ p( P 6

a) Determine, to the nearest dollar the elmm;nt of money she will have after 5 years. = -}
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b) Determine &mo the n§arest year, it will take for her investment to triple.
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4. Depreciation of a cars value can be determined by the formula V' = C(1-r)', where V is the value of’giw/e,ca,; C,

after t years, Cis the original cost, and r is the rate of depreciation. If a cars cost, when new, is $15,000, the
rate of depreciation is 30%, and the value of the car now is S3 000. How old is the car to the nearest tenth of
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5. Sabrina is saving for a new car which will cost $15, 000, If she puts $5,000 in an account which earns a 1 10%

interest compounded semi-annually, }‘MWI“ it take her to save enough money to buy the car? Round to
the nearest year. \_} 0=2 Ly +*?
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6. Luke invests S&_QQ_O_Qat an annual rate of 5% compounded continuously~7 A= PQ
a) Determine, to the nearest dollar, the amgtmt fmoney he will have after 2 years.
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b) Determine how many years, to the nearest year, it will take for his investment to double.
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